MENTAL ABILITY & APTITUDE SOLUTION

1. Find the mean of the following:
10, 20, 30, 40, 50
A.10 B. 20 C. 30 D. 40

BIDBHTEWTILINAISHT 6 FITF  HT6wIH.

10, 20, 30, 40, 50

A.10 B. 20 C.30 D. 40
Explanation:

10, 20, 30, 40, 50

Median = 30

2. A car covers a certain distance in 4 hours if it is travelling at a speed of 60 km/hr.
How much time would it have taken if it were travelling 20 km/hr faster?
A.3.4 hrs B. 3.0 hrs C.3.5 hrs D.3.2 hrs
Q0 B phEH 60 B/ el aes CoudssHHed QFSIBTL @B GBI L HMTHoD
&_bB 4 wewil GBID IBHHIG CFTTEBH. Db WA WHSH 20 H.16/1wewl elenyaurs
CFIBTL DIHSH HMTHMS FL5B 61(hHIHIS OCdTeTEepd GBI elelaueTey?
A.3.4 wenfl B. 3.0 wewf C. 3.5 wewfl D. 3.2 wewf
Explanation:
Distance Travelled = 60x4 =240km
New Speed = 60 + 20 = 80 kmph

Time Taken = % =3hrs

3. One of the measures of Central Tendency is

A. Mean B. Variance

C. Standard deviation D. Square root

emwlll CUTHE DITENAISHEH6IT 6ETHI

A. ggnaf B. uyeuming C. L alevdsid D. aiiés cpsold
Explanation:
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The most common measures of central tendency are the arithmetic mean, the
median and the mode.

. Find the LCM of (6, 20)
A. 20 B. 40 C.60 D. 80
(6, 20) -ab1 185 @31 GUTEHI LOLHIG
A. 20 B. 40 C. 60 D. 80
Explanation:

LCM of(6, 20) = 60.

. Convert 6 : 4 : 10 into percentage

A.60% :40% : 100% B.6% :4% :10%
C. 30% : 20% : 50% D.30% :50% : 20%
6:4:10 et aFHHWSH FHOIBHOTS LOTHBXI
A.60% :40% : 100% B.6% :4% :10%
C.30% :20% : 50% D.30% : 50% : 20%
Explanation: Let, Total = 100
6:4:10 = 3:2:5 =10 _10_,

3+2+5 10

- 30% : 20% : 50%

) ; 3 b?
. Simplify -2
Pty a—b+b—a
A. a2+ ab + b2 B.a%2-ab + b2 C.az+Db? D. a2-b?
. a’ b3
F(Hb(GD:
G50 a—b+b—a
A. a2+ ab + b2 B. a2-ab + b2 C.a2+b? D. a2-b2
Explanation:
3 3 3 3 3_p*  (a—-b)(a*+ab+b?
a_., b L b -2 b:>( )( ):(a2+ab+b2)
a-b b-a a-b a-b a-b a-b

. The LCM of two numbers is 6 times their HCF. The sum of the HCF and LCM is
210, then HCF is equal to

A. 1260 B. 35 C. 210 D. 30

@yewi(y elewibeent 0.8.0. SLeg SleuBmlest 15.0UM.6l. —eaT 6 LMBIG. Gwsud L5.4.10.
BBID 1B.0um.el. SHefler gnbHed 210 erefled, L5.GUT.6u. —6dT OS]

A. 1260 B. 35 C. 210 D. 30

Explanation:

LCM=6xHCF

LCM + HCF =210

6xHCF + HCF = 210

= 7THCF=210=HCF =30
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8. If 12 men can build a wall 96 meters long in 6 days, what length of a similar wall
can be built by 15 men in 3 days?

A. 72 meters B. 90 meters C. 86 meters D. 60 meters
12 g &6l 6 BILS6M6L 96 L5 Bem(elTen Feueny (PIRSHFHTeL 15 oI &e6iT 3 BT H6ile0
GT616U6NT6Y [HONTF SeUenIdh HLIg (LIQLILIT?

A. 72 8L B. 90 L C. 86 B L D. 60 8L
Explanation:
MDD, _M.D, _ 12x6_15x3 _ _16x3x% g,

W, W, 9% W, 12x6

9. The ratio of the ages of son and his father in 2015 and 2023 are 1:4 and 3:8
respectively. Find the sum of the ages of son and father in 2010
A. 40 B. 30 C.35 D. 45
2015 wBmib 2023 —60 @H OFHET WBHID HHenHuleT auuig alHHD (WedmGu 1:4
LBmID 3:8 eTedlled 2010 —60 D& LOBWILD HHewHUleT eULIGHIH6TNeT FBHL WTH?

A. 40 B. 30 C.35 D. 45
Explanation:
The ages of son and his father in 2015 = x and 4x.

X+8 3

=— =8X+64=12x+24 = 4x =40 =>x =10
4x+8 8

In the year 2015, Son’s age = 10, Father’s age=40
In the year 2010, Son’s age = 5, Father’s age=35. Required Sum = 40 years

10.A dealer allows a discount of 20% and still gains 10%. What is the cost price of
the book which is marked at Rs. 440?
A. 396 B. 320 C. 352 D. 376
R UsHBHHer alemsouled 20% SHel@nply OFuIHTed e elwmumidag 10%
BeoTUD HDLSHBH.  DIIUSHHBHPHET @SWVHH alensv ¢h. 440 61el60, DIHT ISP
allemev WITGHI?
A. 396 B. 320 C. 352 D. 376
Explanation:
Discount = 20%
Gain =10%
M.P. = Rs. 440
M.P_100+P% 440 110

440%80
= — = = =
C.P 100-D% C.P 80

CP =320Rs

11.Find the Simple Interest on Rs. 5,000 at 10% per annum for 5 years
A. 3500 B. 5000 C. 2500 D. 2000
9160 . 5,000 && 10% ey aipsHHed 5 YMBBEDHGH Hel el iy
61601601 ?
A. 3500 B. 5000 C. 2500 D. 2000
Explanation:
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~ 5000x5x10
100

S. =2500

12.Find the missing number in the following:
11,6,0,-7,-15, __
A.-21 B.-19 C.-24 D. -10
F6p OBTHoHsLILL (BHelTem 6lewl euflenguled alBLILL  6T60I6N6m0IS  SHT6w0ISH.
11,6,0,-7,-15, __
A.-21 B.-19 C.-24 D. -10
Explanation:
11-5=6 6-6=0 0-7=-7 -7-8=-15 -15-9=-24

13.Find out the mission number,
0,6,24,60, __ ,210.
A.120 B. 144 C.90 D. 96
ABLILL  6TeoTen6u0Th B0,
0,6,24,60, _ ,210.
A. 120 B. 144 C.90 D. 96
Explanation: Ans: A. 120
0+(1*6)=6
6+(3*6)=24
24+(6%6)=60
60+(10*6)=120
120+(15%6)=210

14.What is the Median of the following
3,4,53,6,7,2
A.2 B.3 C. 4 D.5
BIPHHWIL Al UTHIBEHHEG DL [NV HIT6wl.
3,4,53,6,7,2
A.2 B.3 C. 4 D.5
Explanation:
Arrange in ascending order
2,3,3,4,5,6,7
Median = 4

15.Find the circum-centre of the triangle formed by the vertices (4, 2), (3, 3) and (2, 2)
A. (0, 0) B. (4, 3) C.(3,4) D. (3,2
4, 2), (3, 3) wimid (2, 2) erems Lsieliaemen o Ffsenmasd CBTERIL Qb
(W&HCHTMSHH0T FMMWI 6UL L eMIOWILD WITGH)?
A. (0,0) B. (4, 3) C.(3,4) D. (3, 2)
Explanation:
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Let S = (x, y) is the circum-center. We know that SA =SB = SC
A(4, 2), B(3, 3)

SA =SB =5A2=SB2

(x=4)+(y=2)2=(x=3)+(y-3)

Solving Equation x-y=1 ----- (1)

B(3, 3) C(2, 2)

SB = SC =5B2=5C?
(x=3)2+(y—3)*=(x—2)2+(y-2)?
Solving Equation x-y=5 ------ (2)

Solving Equation (1) & (2) x=3, y=2
(3, 2) is the circum-center

16.Two dice are thrown. What is the probability of getting a total of face numbers
12?

A — B. — C. = B
36 18 12 6
B USMLB6T 2 (HULLIUBOUTSE (1ps eTenideMe B Heo 12 FHlewL LLHBETe
BopoHHe _____ SGID.
= B. 1 C. D. 1
36 18 12 6
Explanation:
Total No.of events = 6x6=36
(1, 1) (1, 2) (1, 3) (1, 4) (1,5) (1, 6)
LPrcbablllt}v for Rolling Two Dicq 3) (2, 4) (2,5) (2, 6)
(3, 1) (3, 2) (3, 3) (3,4) (3,5) (3, 6)
(4,1) (4, 2) (4, 3) (4, 4) (4, 5) (4, 6)
(5, 1) (5, 2) (5, 3) (5, 4) (5,5) (5, 6)
(6, 1) (6, 2) (6, 3) (6,4) (6, 5) (6, 6)

Sum of two dice = (6, 6)
Probability = L
36

17.1f the wages of 15 labourers 6 days are Rs. 7,200, find the wages of 23 labourers
for 5 days

A. Rs. 6,000 B. Rs. 7,200 C. Rs. 8,200 D. Rs. 9,200

15 Qg mbeomeniTaensd@ 6 BT SEHHITE el h. 7,200 elefled, 23 OCHTLHEOTETTHEHHS
5 BILSHEHHHTT Fneldl 6161616167

A. em. 6,000 B. em. 7,200 C. em. 8,200 D. em. 9,200

Explanation:

M,D, _M,D, _ 15x6_23x5 _ . ~_ 23x5x7200

_ =W, =9200
W,w, 7200 W, 15x6
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L 3) . (, 3
18.Simplify (_QZJ + (14())

A 93 B. 3 C. 3> D. 9>
43 43 43 43
. 3 3
-9—|+|1—
W’&@&’( 4) ( 40j
A 92 B. 3> C. 3> D. 9>
43 43 43 43
Explanation:
-39 43 -39 40 -390 3
— o — X =5 — > —J—
4 40 4 43 43 43

19.Find the HCF of 135 and 225

A. 45 B. 40 C.35 D. 30
135, 225 &g WUOumm OUTgl @SS STeu.

A. 45 B. 40 C.35 D. 30
Explanation:

Factors of 135 =5x3x3x3
Factors of 225 =5x5x3x3
HCF = =5x3x3=45

20.If n% of nis 64. Then n is equal to

A. 6400 B. 640 C. 80 D. 160
n &1 Nn% eleiugl 64 e@fled N &1 WHI WirH?

A. 6400 B. 640 C. 80 D. 160
Explanation:

N n=64 = n?=6400 =n=80
100

21.Ruban and Krishnan divide Rs. 1,250 in the ratio 2 : 3. The share of each are
A. Rs. 500, Rs. 750 B. Rs. 550, Rs. 700
C. Rs. 750, Rs. 500 D. Rs. 700, Rs. 550
(hUGID, H(Hagewienld . 1,250 —g 2:3 eiaiB alFHHHe0 Llfldhad OCsmentmev,
elGeumhHeuflelt LMIGE OCHTEHBHUITEISI.

A. ep. 500, . 750 B. em. 550, ep. 700
C. ap. 750, em. 500 D. . 700, ¢m. 550
Explanation:
120 _ 250

3)

Share of Ruban=250 x2=500
Share of Krishnan= 250 x3=750

6 | APPOLO STUDY CENTRE www.appolotraining.com 044-42867555



http://www.appolotraining.com/

22 Find the rate of interest per year of the following details. Amount Rs. 2,000, year
= 2 and simple interest Rs. 120.

A. 3% B. 2% C.1% D. 5%
ah. 2,000 && 2 ewihdHG Heol alllg h. 120 elefled DEWIBHEG Qg @iHD
6161161616 ?
A. 3% B. 2% C.1% D. 5%
Explanation:
S1=TNR oo 2000x2xR _ o 120 4y

0 100 40

23.At what rate of simple interest a certain sum will be doubled in 10 years
A.20% B. 8% C. 10% D.15%
R GPUILL OgTmaswmeaidl 10 aumLmseled Hell el cpeold @FLIQlILnsg
GouemiBLoTeITeL QUL Ly ISFHLD elaiiciouTsd HHS Geuewi(pLd?

A.20% B. 8% C.10% D. 15%
Explanation:

R% = (XT_lj 100 = (21—;1) «100 =10%

24 . The number of prime numbers from 2 to 100 is

A.51 B. 25 C.24 D. 20
2 olmpba 100 6ued] 266N LIST 6T6301H61I6H 6165016001 5H6NSH

A. 51 B. 25 C.24 D. 20
Explanation:

There are 25 prime numbers between 1 and 100
Prime Numbers: 2,3, 5,7,11,13,17,19, 23, 29, 31, 37, 43, 47,53, 59, 61, 67, 71, 73,
79, 83, 89 and 97

25.1f five times the fifth term of an A.P is equal to 8 times its eighth term, find the
13t term.

A. 1l B.2 C.0 D.3

R FLBSH OHTLMed 5 eughl o miilear 5 SLeveuwneaid 8 eukh 2 miliier 8
SHLMAUSHG TFOWTH SHHSHTEL 13 auH 2 ML SHITewish

Al B.2 C.0 D.3
Explanation:

5xFifth Term=8xEigth Term

5 (a+(5-1)d) = 8 (a+(8-1)d)

5x(a+4d)=8x(a+7d)

5a+20d =8a-+56d

3a=-36d = a=-12d

13t term: a+(13-1)d =>a+12d =-12d +12d =0
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